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B K £ B 2E KK iclE
1 B SR A~ dkt 11/ 1 42. 49 8k
2 KL BRSE A~k AN 11/ 4 42.53 8%
3 KRill T k4SS /N5 12/ 1 42. 64 *F5) 8tk
4 JNE - Bl KL EHHH ! 8/ 4 44. 22 %
5 NN EE B 5 A k= ik /N 10/ 2 44. 58 6%
6 B X JSSKE N6/ 4 45. 62 Tk
7T BHMIZAE A+~ Hkt /N 10/ 6 46. 28 5%
8 4R BRI =211 /N5 10/ 5 47.26 5%
9 HE H b A h~ ik /N4 7/ 1 47.74 A%
10 — A& #i A = ok /N3 7/ 2 48. 08 6%
11 )1 =Ty a RN /N4 9/ 1 48.13 6%
12 28 *LiK KLVEHEHH /NG 9/ 3 48.19 48
13 i A KL EHRH /N3 9/ 5 48. 62 9%
14 ik fnzs o X NEE /NG 6/ 3 48. 81 4%
15 Mgy EE A b~ K /N2 5/ 2 48. 91 8%
16 1A At A k=~ ik AN 5/ 3 49. 13 Al
17 BEH H A ~~ okt N 6/ 5 49.17 4 5%
17 JUVE R = YA 3] /N4 7/ 5 49.17 45%
19 FEfS  BELS AT AT N7/ 3 49. 20 *F8) 5%
20 XN eSS JSSKHE ! 8/ 5 49. 34 3%
21 A HER =PANE = 1xc) /N3 8/ 6 49. 89 Sk
22 RRIF A EZE =2 Sl1 /N3 6/ 6 50. 26 *F& 5k
23 L Th g R /N4 8/ 2 50. 80 4%
24 P AEACHR A b~k /N4 7/ 6 51.16 45
25 FKH  HHR A k= Hk /N2 4/ 3 51.33 Tk
26 NI ER A b~ ok /N 4/ 5 51. 66 =T Tk
27 TR AR TY 1 =\ R /N3 5/ 6 51.95 45
28 By 4 (LR S C Kt /N3 5/ 1 52. 41 «F&) 3k
29 WHE Al K LEHHH /N2 6/ 1 52.56 Tk
30 FdR  FR(K A b~ Hkt /N3 3/ 4 52.72 TH%
31 [ MEK A h~ ik /N3 5/ 4 53.18 6%
32 R 72 7n S C KJif /N3 4/ 4 54. 67 27%
33 HIk e ATEISC /N2 2/ 1 55.22 5k
34 ¥ E 7 =2 1T /N3 4/ 1 55. 63 2%
35 /NGl HEEE S s /N3 2/ 5 56. 24 5%
36 BA S oS R /N3 4/ 2 57.83
37 B BT FtES 'S /N3 2/ 2 57.97 4%
38 JITFEVN AR =PANS ¥ | /N3 2/ 3 58.67 A3k
39 A FnzE K LVEEHEHH /N2 3/ 2 58. 82 3%
40 Tk AR S C KJit ! 2/ 4 58. 84
41 B8 BRE ftS s /N2 3/ 5 58. 90 *F:i@h 3k
42 frp D v— MR /N4 3/ 6 59. 81
43 B8R KTy a X% ! 3/ 3 1:00.55
44 EE  ERE =P IEA /N2 1/ 3 1:01.06 «F&) 2%
45 ARFF AL J SSHEB /N3 3/ 1  1:02.11 25
46 R *56 a % /N2 1/ 4 1:04.64
47 (b BRE S C KKFF /N2 1/ 5 1:07.55 xF&)
48 /NI HiiZE EFFE S C /N3 1/ 2 1:09.20
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B & £ T & FE K B [
1 58 £ ATEISC 1 14/ 5 36. 34 9k
2 HH SEE A b~ okt /N6 14/ 2 37.07 9
3 BEH Fis =N SI1 /N6 14/ 6 37.09 9%
4 SN HEMELS V FET —5 /N6 13/ 4 38. 33 8H%
5 [ i K LEEHHT /N6 13/ 2 39. 71 8k
6 HfE 122 JSSHKHE /N5 12/ 3 40. 05 8k
7T ORRIL DEE S S /N 13/ 6 40.70 Tk
8 JIIAEL B T SSHE /N6 11/ 3 41.28 Tk
9 T Tk FRIRS S /N5 11/ 5 43. 23 67%
10 FEEH Y o R B /N5 11/ 6 43. 65 6%
11 FiE 3K =P AN = N6 T/ 4 45. 38 3%
12 il A =PANVE /NIl NG 9/ 6 45. 67 45%
13 filE 4B S C KJf /N6 10/ 1 46. 45 4%
14 =K Hif o R BV NS 8/ 3 46. 86 4%
16 Ri# I =2 11 /N6 9/ 4 48. 04 3%
16 & H EH] AITEISC /N6 10/ 4 48. 49 1%
17 FatE PO N FA N6 6/ 2 48. 99 1%
18 Il K EffE S C N6 8/ 1 51.24
19 (FHEiBRTD V kTN /N5 5/ 5 52.14

o BEsE A =k /N6 13/ 5 KkiE4.4
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1 KEE 16/ V hET 114/ 1 37.33 SH%
2 WA EZE =2 31| 2 13/ 1 39.34 61k
3 EO K A b~k Flo12/ 2 39.97 6%
4 FEEF HIE A7 A TRE 3 12/ 5 41. 81 4k
5 AHBHMNY =X B 2 12/ 4 43.15 3%
6 A HibL SN IR H12 9/ 2 49. 44
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B & £ T & FE K B [
1 K ek S w3 14/ 4 35.30 8tk
2 Ji YA =R T &l 13/ 3 37. 46 TH%



